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FINANCIAL MANAGEMENT
AND
MANAGEMENT ACCOUNTING
(Honours in Accounting & Finance)
'PAPER—AH7
' Full Marks : 100

: ] Time : 4 Hours

The figures in the right-hand margin indicate full marks.
Candidates are required to give their answers in their
own words as far as practicable. :

Niustrate the answers wherever necessary.

Group —- A
( Financial Management }

[Marks : 45]
1x15

1. Answer any one question :

' (a) Explain the nature and scope of Financial
Management. 8+7
{Turn Over)



(b) What do you mean by lease financing ? What are the
different types of lease ? Explain the advantages and
disadvantages of lease financing ? 2+1+6+6

(c) (i) Calculate weighted average cost of capital by
using the following information :

X Ltd. has the following capital structure :

Rs.

Equity Share Capital (20,000 shares) 4,00,000
10% Preference Share Capital 1,00,000
14% Debentures 3,00,000
8,00,000

The market price of each Equity Share is Rs. 20.
It is expected that the company will pay a current
dividend of Rs. 2 per share which will grow at 7%
for ever. Rate of tax may be taken at 50%.

(ii) You are also required to compute the weighted
average cost of capital, if the company desires to
_ raise additional fund of Rs. 2,00,000 by issue of
10% Debentures. This would result in increasing
the experted dividend to Rs. 3 keeping the growth
rate unchanged but the price of the share will fall

tc Rs. 15 per share. '

(iii) Define explicit are implicit cost of capital.
5+6+4
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3Ix8

2. Ans;wer any three questions :

(a)

{i) Explain Relevance Concept of Dividend’.

- {ii) Ascertain whether the dividend policy as per

Walter’s Model is optimum from the following

particulars of Apex Ltd :

No. of shares (Rs. 10 each] 1,00,000
Total earnings Rs. 2,50,000
Dividend paid Rs. 2,00,000
| 12

P/E ratio
3+5

{b) (i) Make difference between Capital Structure and
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Financial Structure.

(i) What are the assumptions of Capital Structure

theories ?

(iii) Explain the term ‘Arbitrage Process’
2+4+3

{Trerm Owear)



(c) Following information are available from ATK Co. Ltd.

Capital Structure : Rs.
5000 Equity Shares of Rs. 100 each 5,00,000
Reserve and Surplus 4,00,000
Current market price per share Rs. 20
Current Tax Rate ' 50%
Additional Capital required 10,00,000

Expected profit before interest and taxes 5,00,000
The company is considering the following financing
options :

(i) 100% Equity Shares,

(ii) 20% Debt and 80% Equity Shares,
(iii) 80% Debt and 20% Equity Shares,

{iv] 100% Debt.
Interest on Debt is 10%.

Calculate EPS for each alternative option. Also
calculate the EBIT level where EPS of all the

alternatives will be same. 4+4

(d) What is the difference between owned capital and
borrowed capital ? ‘ 8
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3. Answer any fwo questions

BV. Ltd. issued 10,000, 12% Preference Shares of

Rs. 100 each at a premium of 6% ; the floatation cost
being 2.5% on issue price. The shares are to be
redeemed after 5 years at a premium of 5%. Compute
cost of Preference Share Capital before and after
adjusting dividend distribution tax. 4+4

Explain Net Operating Income Approach as given by

David Durand. 8

2x3

() Evaluate the importance of time value of money.

{b} What is Public Deposit ? Discuss its merits.

(c) Distinguish between Operating leverage and Financial

leverage.

'(d} A company issues 2000, 10% Debentures of Rs. 1000

each at a discount of 5% repayable at a premium of
5% after 10 years. Corporate tax rate is 40%.
Compute cost of debenture. ‘

: (e} Calculate the present value of an annuity of Rs. 2000
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received annually for 5 years at a discount factor of

5%.

{Turm Qver)



Group - B

{ Management Accounting)

[Marks : 45]
4. Answer any one question : 1x15
(a) Discuss the functions and limitations of Management
Accounting. 8+7
(b} What is meant by Accounting Ratio ? Discuss its
usefulness and limitations. 2+8+5
{c} From the following information of ML Litd. and
Balance Sheets prepare a Cash Flow Statement for
the year ended 31.12.2017 using AS-3 Provision
Adjusted Method :
Balance Sheets of ML Ltd.
for the year ended 31.12.2016 and 31.12.2017
Ligbilities 2016 2017 |Assets - 2016 2017
Rs. Rs. Rs. Rs.
Equity Share Freehold 24,000] 48,000
Capital 1,00,000| 1,42,000{ Land
8% Preference Plant 1,80,000 2,88,000
Share Capital 80,000 80,00C |Sundry
Profit & Loss Debtors 84,000 84,000
Account. 75,900 81,900 [Stock-in-
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Liabilities 2016| 2017 {Assets 2016| 2017
' I‘I Rs. Rs. Rs. Rs.
Creditors| 1,15,000| 1,01,0001 Trade 1,32,000] 48,000
Outstanding Prepaid Rent| 1,800 2,400
expenses 12,000] 24,000 |Prepaid

Provision: for Insurance | 2,100] 2,100
Tax | 6,000| 6,600 |Cash 30,000| 36,000
vaisim'; for .

Depret‘:iation 60,000 66,000

Provisiof‘m for

Bad Debt 5000 7,000

4,53,900 | 5,08,500 4,53,900| 5,08,500

Other information :

(i) The company declared and paid dividend on

Preference Shares and Equity dividend of Rs.

30,000 during the year 2017.

12,600.
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(i) A plant costing Rs. 36,000 with accumulated
depreciation of Rs. 24,000 was sold for Rs.

(iii) Bad Debts during the year amounted e Rs. 8 GZO0.

ol
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5. Answer any three questions 3x8

(a) With the help of following information of GD Ltd. as
on 31.12.17, prepare Trading Account, Profit & Loss

Account and a Balance Sheet.

Gross Profit — Rs. 1,50,000 (25% on sales)
Equity Share Capital — Rs. 5,00,000

Long Term Debt to Fixed Assets — 1 : &
Proprietors’ Fund to Net Working Capital — 3 : 1
Operating Ratio — 5 : 6

Fixed Assets to Current Assets — 5 : 3

Stock Velocity — 9 times

Closing Stock is Rs. 10,000 more than opening stock.

Show your working properly. 2+2+4

(b) From the following infdrmations of EZEE Company
Ltd. prepare a Working Capital Requirement Forecast
Statement for the coming year 2018 :

Expected monthly sales of 32000 units at Rs. 10 per

unit. The anticipated ratio of cost to selling price are :
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Raw material — 40%, Labour — 30%, Budgeted
] overhead — Rs. 16,000 per week. Overhead expenses
| include depreciation of Rs. 4000 per week. Planned
stock will include materials for Rs. 96,000 and 16000

units of finished goods.
Material will stay in process for 2 weeks, credit
allowed to Debtors is 5 weeks, credit allowed by

creditors is cne month.
Lag in payment of overhead is 2 weeks.

25% of sales are on cash. Expected cash in hand to
' be maintained Rs. 25,000.

Assume production is carried on evenly throughout
the year and wages and overheads accrue similarly.

: A time period of 4 weeks is equivalent to a month,
8

(c) What is ‘Fund Flow Statement’? Make difference
between ‘Cash Flow Statement’ and TFund Flow

! Statement’, 246

. (d) Define Budgeting. Explain the advantages and
disadvantages of Budgeting. 2+6

! (c).What is the difference between Management
' Accounting and Cost Accounting ? 8
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() (i) Discuss briefly the NPV method and IRR method
for evaluation of Projects.

(if} A new project cost Rs. 1,00,000 and is expected
to generate annual net cash inflow of Rs. 72,000
and Rs. 57,000 over its life of 2 years. Calculate
Internal Rate of Return of the Project.

4+4

6. Answer any tweo questions : C2x%3
(a) Explain different concepts of working capital.

(b) Explain the benefits of Cash Budget.

{c) From the following information calculate interest
coverage ratio and comment :

Profits béfore interest and taxes Rs. 1,00,000

Annual interest payment on
debt -capital Rs. 20,000

{(d) Write a note on Budgetary Control.

(e} Initial investment on a project is Rs. 1,20,000 and the
expected cash inflows will be Rs. 22,000 ; Rs. 32,000 :
Rs. 40,000 ; Rs. 52,000 ; Rs. 76,000 for a period of
S years. Calculate payback period of the project.

[Internal Assessment — 10 Marks]
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f X Ltd. has the following capital structure :
\I Rs.
: Equity. Share Capital
; (20,000 shares) 4,006,000
l‘ 10% Preference Share Capital 1,00,000
: 14% Debentures 3,00,000

: 8,00,000

C/18/B.Com. /Part-HI{H)/ 3T(N)/ AH7 (Furrn oo



12

The market price of each Equity Share is Rs.
20. It is expected that the company will pay a
current dividend of Rs. 2 per share which will
grow at 7% for ever. Rate of tax may be taken
at 50%.

{iij You are also required to compute the weighted
average cost of capital, if the company desires
to raise additional fund of Rs. 2,00,000 by
issue of 10% Debentures. This would result in
increasing the expected dividend to Rs. 3
.keeping the growth rate unchanged but the
price of the share will fall to Rs. 15 per share.

(iii) IF © GGG [EHAT ARG 758 78 |
” E+u+8
2 1N SO Avw Say e 2 O X b
(F) () eroIRC= =i g g %)

(i} Walters Model @Rl ereis NS Fhy Bay o
Apex Ltd.-3 ffaie wepafe cate Rt <9 ¢
No. of shares (Rs. 10 each) 1,00,000

Total earnings Rs. 2,50,000
Dividend paid Rs. 2,00,000
P/E ratio ' 12

O+-¢
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. Following information are available from ATK Co.

Ltd. :

Capital Structure : Rs.
5000 Equity Shares of Rs. 100 each  5,00,000
Reserve and Surplus : 4,00,000
Current market price per share Rs. 20
Current Tax Rate 50%
Additional Capital required 10,00,000

Expected profit before interest
and taxes 5,00,000

The company is considering the following financing

options :

(i) 100% Equity Shares,

. (ii} 20% Debt and 80% Equity Shares,

(iii) 80% Debt and 20% Equity Shares,

(iv) 100% Debt.
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Interest on Debt is 10%.

Calculate EPS for each alternative option. Also
calculate the EBIT level where EPS of all the

alternatives will be same. 8+8
(T) foe e 8 Aegs oG A & e b

(&) BV. Ltd. issued 10,000, 12% Preference Shares of

Rs. 100 each at a premium of 6% ; the floatation
cost being 2.5% on issue price. The shares are to
be redeemed after 5 years at a premium of 5%.
Compute cost of Preference Share Capital before
and after adjusting dividend distribution tax.

8+8

(5) David Durand ¥$% 26T 5 InFT Wiy & Tt
79| b

ol (¥ (TN 730 orag Ted wie 3 X9
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(%) A company issues 2000, 10% Debentures of Rs.

1000 each at a discount of 5% repayable at a
premium of 5% after 10 years. Corporate tax rate
is 40%. Compute cost of debenture.

. (8) Calculate the present value of an annuity of Rs.

i 2000 received annually for 5 years at a discount
factor of 5%.

| , frein—y¢
| ( #fsrew =)
s - 8¢ '
81 (I 4B 2TH7 TLF W16 ¢ SX3E
(7 svEn B riea) ¢ RwREs! Sena 93|
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() From the following information of ML Ltd. and

Balance Sheets prepare a Cash Flow Statement for
| the year ended 31.12.2017 using AS-3 Provision

Adjusted Method :
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Balance Sheets of ML Ltd.
for the vear ended 31.12.2016 and 31.12.2017

Liabilities 2016 = 2017|Assets 2016 2017
Rs. Rs. Rs. Rs.
Equity Share Freehold
Capital 1,00,0001 1,42,000| Land 24,000| 48,000
8% Preference Plant 1,80,000| 2,88,000
Share Capital 80,000| 80,000 |Sundry
Profit & Loss Debtors 84,000 84,000
Account 75,900 81,900 {Stock-in-
Creditors “11,15,000 1,61,000| Trade 1,32,000( 48,000
Qutstanding Prepaid Rent 1,800 2,400
expenses 12,000| 24,900 [Prepaid
Provision for Insurance ‘2,100 2,100
Tax 6,000 6,600 {Cash 30,000 36,000
Provision for
Depreciation 60,000 66,000
Provision for
Bad Debt 5,000 7,000
4,53,900 | 5,08,500 4,53,900| 5,08,500

Other information :

i) 2017 NS (IR CHPTIN rANF2 G fGleres
ity e R cmin Oem Rferes ftam
30,000 B
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(i) 36,000 B TL=VF Plant R HERIES SRBTAT AR
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(qs) 31.12.17 ST 218 G. D. Ltd.-«3 frafeife syufm
FSTY Trading Account, Profit & Loss Account I
Balance Sheet oq 793

' Gross Profit — Rs. 1,50,000 (25% on sales)
Equity Share Capital — Rs. 5,00,000
Long Term Debt to Fixed Assets — 1 : 5
Proprietors’ Fund to Net Working Capital — 3 : 1
Operating Ratio — 5 : 6
Fixed Assets to Current Assets — 5:3
Stock Velocity — 9 times

Closing Stock is Rs. 10,000 more than opening

 stock.
Show your workings properly. 24245
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(4) From the following information of EZEE Company
Ltd. prepare a Working Capital Requirement

Forecast Statement for the coming year 2018 :

Expected monthly sales of 32000 units at Rs. 10
per unit. The anticipated ratio of cost to selling
price are:

Raw material —— 40%, Labour — 30%, Budgeted
overhead — Rs. 16,000 per week. Overhead
expenses include depreciation of Rs. 4000 per
week. Planned stock will include materials for
Rs. 96,000 and 16000 units of finished goods.

Material will stay in proceés for 2 weeks, credit
allowed to Debtors is 5 weeks, credit allowed by

creditors is one month.
Lag in payment of overhead is 2 weeks.

25% of sales are on cash. Expected cash in hand
to be maintained Rs. 25,000.

Assume production is carried on evenly throughout
the year and wages and overheads accrue similarly.

A time period of 4 weeks is equivalent to a month.

| 4
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(ii) A new project cost Rs. 1,00,000 and is expected
to generate annual net cash inflow of
Rs. 72,000 and Rs. 57,000 over its life of
2 years. Calculate Internal Rate of Return of

the Pfoject. 8+8
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| (%) IR yecR Rion ymenef g 31
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(o) fsferfe B4l (409 Interest Coverage Ratio [

)

()
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Profit before interest and taxes Rs. 1,00,000

Annual interest payment on
debt capital Rs. 20,000

ATEHAS R Boig Bl (|

Initial investment on a project is Rs. 1,20,000 and
the expected cash inflows will be Rs. 22,000 ; Rs.
32,000 ; Rs. 40,000 ; Rs. 52,000 ; Rs. 76,000 for

a period of 5 years. Calculate payback period of the
proiect.
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